SET~2
a.p.code 40/6/2

Y3T feg 30 T8 7 Y3 IF |

Roll No. Candidates must write the Q.P. Code
on the title page of the answer-book.

- T NOTE

%(I) aTYT Jda T JT B o [T YHS] (I) Please check that this question paper

contains 7 printed pages.

Q.P. Code given on the right hand:

fc‘gz W / .
i AIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIRBE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIR BE FAIRBE FAIR

g mMT 3T fapT T 1 YHE Y39
H2d 10.15 @7 @5 7' / 10.15 @A
5’1030%’75’?2177‘5’77@97&@821773
Y37 & W3 187 FH [eT B
37 yrlEar feg a8 659 Pl

dfes (&)

(1D ygz 39 feg A7 99 & @5 o3 @)D ;,
Y VgT &3 3 @V?ar side of the question paper should be:

: ? : written on the title page of the:
g W Uy / answer-book by the candidate.
E(III) 1TTYT Jda 77T T e o 1TH YH3 (III) Please check that this question paper§
VT = 14 YHE TS | contains 14 questions.
%(IV) royT™ aJa YHE e gvjar f8yer gg|(IV) Please write down the serial%j
: FI5 T uTmT é‘%arunﬁaﬂ%a’qn% number of the question in the:
: & T ( ?E’ - T, ) 655 l‘ answer-book before attempting it. |
M 1EF YHS 3T & yz5 € 3 15 A/=(V) 15 minute time has been allotted to:

read this question paper. The%f
question paper will be distributed:
at 10.15 a.m. From 10.15 a.m. to§
10.30 a.m., the students will read the:
question paper only and will not:
write any answer on the answer-book:
during this period

B
2R

(ym=t €=ET)
MATHEMATICS (STANDARD)

(Punjabi Version)

HHT HIHT : 2 W&

Time allowed : 2 hours

YITE W : 40
Maximum Marks : 40

.40/6/2

P.T.O.




E5E
[=

IS 18Y 155 & I3 s 378 Y3 #3 857 & rydl 38 Y83 F9 :

(1)

(ii)

(ii)

(iv)

(v)

(vi)

&7 YHE V3T €9 38 14 YHS I& | F'9 YHS 791 I& |

8T YHS YFT 138 437 185 S5 [T I — 4S &, ¥ %3 T |

Y3 & o9 6 YHZ (Y.H. 13 6) I3, 73 e JT o YHE 2 »d &
J | EYHE ST #egaT [ea®y e o™ T |

Y3 Y 99 4 YHS (Y.H. 73 10) I3, 73" €9 I 1od YHE 3 #d &7
J | B YHE e #egal 1ea8y 837 [apn™ T |

Y3 o9 4 YHS (Y.H. 11 3 14) I8, 73" €9 I [EF YHE 4 7
g I | B YHE €9 #egd] [easy [e37 famm I 1 BH Y5 feg €
YIIE WRPAS 1T YHE & HTHS I& |

IBIBT T @93 & oTHT 3T |

43

YHE HiH™ 13 6 39 I B YHE € 2 Wd T |

(a) aarfef3a St : 12x, 10x, 8x, ..., — 2x 29 IS fI38 T T8 ?

oy

(b) 2 M3 100 ¥ TIHAS 3 38 g1 I T& HY Ygid ot
foredt U™ 99 |

@ % € BT W U F§ gt ¥ BE Swdt AHiege
kx2 - 5x + k=0 ¥ THISH M3 AH'S (99797) HS I |

b) v < B IS I :

.40/6/2 2




EFE
[=]

fd39 1 fe9, 0 93 @* 929 J | PQ W3 PR WUYJIH JYNH3 IS |
g 99 fa 93337 PQOR fex Jadt 93994 T | 2
R
P >
fg=a 1
139 & o »idfan™ T 9I8d (mode) 240 J, 3T BUI 993" K
U3T J9 2
THBT WIS YigergT &f
yag (¥ 1e9) faresst
0 — 100 140
100 — 200 230
200 — 300 270
300 — 400 X
400 — 500 150
J& fedt Agdt g9993™ Agat feg, a,b,c M3 d & H'E U™ 39 | 2
ggar 0-10| 10-20 | 20-30 | 30 —40 | 40 — 50
FITTIT 5 7 5 b
Ho&g? g957937 | 5 c d 30
wigarfefsd St : 5, 15, 25, ... & fagas y=, feAe 312 y= 3 130
fammar J 2 2
3 P.T.O.

.40/6/2




E5E
[=

43y

YHE HIGw™ 7 3 10 35 IT B YHE € 3 W IS |

7. (2 Tog TH BY-IIIT AE3I (88&) © »U9 & WIufen™ w3
S9mt T w3 2:3 T W3 GHT »fEss 1617 WS AL T

g%6 &7 I8 A3l 43398 U3 &9 | (n= 27—2 Z2)
oy
b) 105 H.H. »@Ufew™ ¥% U3 € fog W % § usa
3.5 H.HL. »idgfen © w3 3 At 89t © 82 &H Hawr

(cones) Teg =fon fam | few 397 9 Han™ &1 faredt Uz
coll

8. uet 5 fa. . yFt W & 9% &5 14 .M. fenmm © feg yey ©

ey

Ad1e foq wfegarg &9 fag 77 fogr T 7 3 50 Ht. 37 w3 44 Hi.

o) =N

937 T | B9 mvt y3zT 99 fan fev Z9 @ feu vt @ 739 7 AqL

g HTEdT ?

9. TH3S AHls Bug uFt &g Hied T ugs= OF I3 fev 40 Hieg
femiaT 897 J AeT J A< Had ©F G897 dT (altitude) 60° 3 WS o
30°J Aer J | Hiag <t O9t u3T 99 |

10. »Iuferrw 3 AML w3 5 A, € € WHdedt Jad Ss6 |
wgufer™ 5 H.HY. @8 Ja99 ¢ feq fdg 3 wiggfenm 3 7M. =3
Jod GUd AUIH ¥ € A3 < 396 99 |

.40/6/2 4




E5E
[=

43 1

[

YHS HIGT 11 3 14 35 IT [EF YHE € 4 #d IS |

11. U33 < feg fig X Sug 3 fex fadt udt Hisg PQ = g Q =
BoT dT 60° J | fAE Y, 7 3 X € BuT 40 HI. & G9€t BuT 4,
3% Q € BT A< 45° J | Hied pQ = G9Et w3 I Xp uI
a3 | (V3 =1-732 <t =33 F9) 4

((O-Io

12. (a) 39 2 fes, © Ja0 feg g P Q3 fed gd § 999 =B
gdd J& | §aT 297 § fed HIET HUTH duT A W3 B QUI AUTH
Ja<t J, »3 P U3 fex TRt AT AUSH JuT, FUTH JUT AB
5 CBYI et I | THT J3 fd LAPB=90° J | 4

N7

Q
937 2
7
(b) 933 3 fe9, PQ »3 LM, O <3 <& a7 Jdad Sud © AH39
AUJH U=’ I& | AYIW f¥g ¢ Bud f&d J9 AUIH T AB,
PQ S AM3I LM $ B BUT dedt J | fHT 93 fg £ AOB=90°. 4

P < A > Q

.40/6/2 5 P.T.O.




13.

E5E
[=

YIS miftnls - 1

AHTA dHT T7 HIAE HQHT 99937 § Yd™ dd6" J | AHTAA o J96
TEMT T HaAe Bt BaT & SE ydY w3 Al et 99 98 J
fagt & W9 3 e wgas J | wes fafunr (ugrdt feurd) feg
HI'E AT oH J | wedT J9d il Mye AHH 3 fagnrdasr
(MEUFI") & €9 99 A< TT |

398, fed AHTHE dH 996 8T I J9d, fed HI® dus ¥ B
It wts s < Uefes § €% 996 9deT J |

< 500 H. >

e e o o e M o voul o e pores i

o e e e e o e

==-8 R|-=:

400 HT. |5 &

zz:lp Qlz=:

LR L E L P L L

Vv e = = = = = =AY = = = = = = = = =

1937 4

396 <F mfts 500 vt x 400 Ht. © »rfez © gy feg I | fis
T3 g M3 35 € JH dflc € 970 U'H € g9 U3d § 83 &

SHST 3! J | 799 x Hl. Mt < I3 997 uH wg w3 BT ©

Tt St AT (9T 9 939 4 feg fagfour fapur J), 37

(a) PQ M3 QR Tt Jgvdei U3T 99, ddd PQRS <€ 99 U™ WH
W3 IS T Y3J T U3IEH 118400 =39 Hied T |

(b) ME3 PQRS T UfgHY < U3T JJ |

.40/6/2 6




E5E
[=

YagS Mol - 2
14. fAg3 dhm feg miE3T § fame widls shi Judt dtHaad HéY §

HHI U 3 77 Twea € 96 IS feg gadt I &t o3 feu
ffB™ Ydd © S fed & S 5t B © I Afgus It I |
AIdd & WMHEs 99 feg J3t © o gz ghr § 837 fas da<t 7 |
SBI g3 €™ Tdc & 100 USHT g9 < Gva &t =3 © s I8
oy nigg feds 13 | gz € 3Ehr (usH) 15 78 A

o/

15 7S U9 UJ 60 A'S 3 WS BHT T8 HEYT § It fadhum widher

Jo |
Or JTsH} T
(7S ) | o et
15 -20 2
20 - 25 4
25 -30 18
30 - 35 21
35 -40 33
40 — 45 11
45 - 50 3
50 - 55 6
55 -60 2

(a) UTSH gda < 9U%d GHI U3 I3 |
(b) UTSHT gga & HTPHET (median) SHI U3T &9 |

.40/6/2 7




